A20 station #3 (V7) Figure 4

start depth (.red) (.blue) Surface distance end depth
0 ok

@ 2
(O] (O]
g -50 g€ -50
£ £
= =
o o
S -100 f T -100

-150 t . . . -150 . . . =

50 100 150 200 400 600 800 1000
time in ensembles time in ensembles
bottom (--k) LADCP depth (-k) bottom distance (.b)
T T T T T T T T T T
bottom at: 163 [m] ADCP was 10 m above bottom

50 + i
I3
()
S
£
= -100 - .
o
(]
©

-150 N

CTD pressure [dBar]
o
o

e e
5N O
S o &

- - - : : - ST apTsos— " "

100 200 300 400 500 600 700 800 900 1000
time in ensembles

Cut CTD profile best lag W: -3 scans ~ 3 sec. ¢:0.97441
c 05}
9
<
I
8 O
(@)]
©
S
- -057¢
[}
0
=}
=
-1+
0.1 0.2 0.3 0.4 0.5 10 20 30 40 50

Time in hours sample scans (b)ADCP (r)CTD



